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EpucATION

1. Integrated education for disabled children
emphasizes on:

(A) Equal opportunities to children
withdisabilities in general schools
and facilitates their retention

(B) Special emplasis on removal of
disparitis

(C) Provides economic rehabilitation
of people with disabilities

(D) An endeavour to equip special
schools for children with
disabilities with vocational
training facilities

2. What are the key roles of transformational
leaders?

(A) Guiding, mentoring and

motivating

(B) Guiding, commanding and
motivating

(C) Guiding, demonstrating and
motivating

(D) Guiding, mentoring and
demonstrating

3. Match the items under List-I with the items
under List-1I:

List-1 List-11
(Modes of representation) (Attributes)

(a) Enactive stage (i) Visuals and images

to retain memory
(b) Iconic stage (ii) Learning through
abstract symbol
(c) Symbolic stage  (iii) Encoding action
based information
(iv) Use of language

Select the appropriate option from the
following:

(@ () (0
A) (i) @ (D)
B) ) @ (i)
© O G (a6
(D) i)  Gv) (@)

1. s Rame scefoes F e Foae @b
Tl g Wi -
(A) e Rmpler orFs Freme T
AW M A GRS A&
BINIER SRR RS
(B) (P VF FAIK Gl e ey
Gign|
(C) wrww Ffema ofdfF smamEs
RISEL
(D) e afrres AR o=

Bk -
2. LTS (oI 24 B! (el 2

(A) em=le, ATl ¢ (Renamie
(B) I2fq, SIomie € (aenamie
(C) 1z, 2f St ¢ (eRenamis
(D) “22ma, s ¢ afesive

3. fa e F9a AT Sifer 11 (e

O OiferI-I
(GZI#IF ) (@97aT)
(a) w7 () W FEF CFCG
v 6 fome
TolfFe
(b) =it ®= (i) ST gm
IBEC|
(c) 2O T (i) =2 9 AT
(iv) SRIF IR
fafERes @ Al Rea Fva ae:
@ (b)) (o

A) G @ ()
B) @ @@ (i)
© O > i)
D) Gi) Gv)  ®
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4. A sample statistic estimates its population
parameter known by:

(A) An index of SEgp
(B) An index of the correlation
(C) An index of the significance

(D) An index of the Type-I error

5. Which of the following validity types are
primarily established by empirical method of
analysis?

(A) Constructive and Face
(B) Content and Predictive
(C) Face and Predictive

(D) Predictive and Constructive

6. Whichofthefollowingare typicalindicators
of creativity?

(1) Need for repeated practice
(ii) Inability to concentrate
(iii) Risk taking
(iv) Flexibility

(v) Intolerance for boredom

Choose the appropriate option from the
following:

(A) (i), (ii) and (iii)

(B) (ii), (iv) and (v)

(©) (@), (i1), (iii) and (iv)
(D) ), (i), (iii), (iv) and (v)

4. SRR N Fest @36 T s
bfze =3 fagfaiie aiw, ©f ==

(A) SEgyd G315 55
(B) zsife 9=l 3o
(C) ST 7

(D) Type-I faprfes sp=

5. fasferfae @I 7o eTen MamEreRER
e Amfeq Al 2iefiFer wafde 2
(A) ‘ﬂ"b?ﬁﬁm (Constructive) 43g
WT@TFW (Face)
(B) 7999 (Content) @3¢ Wmﬁ@

(Predictive)

(C) SIfSHfETFF (Face) IR SRS
(Predictive)

(D) SRS (Predictive) 93 SI5eTE
(Constructive)

6. e @M Yoo s fdias 2
(i) ST sfIgfed Eeae!
(1) ST AT SF ol
(iii) 3 ez
(iv) TSl
(v) Fifeye smifegee!
freffreef 2 Ao e fdis s
(A) (1), (i1) @R (iii)
(B) (i), (iv) €< (v)
(©) ), (i1), (1i11) €% (iv)
(D) @), (1), (i), (iv) 9 (v)




7. DistrictInstitutes of Education and Training
were created in pursuance of the recommendations
of:

(A) National Policy of Education,
1968

(B) National Policy of Education,
1986

(C) Kothari Commission, 1964-66
(D) National Education Policy 2020

8. Match the name of List-I with the meaning
of curriculum under List-1I:

List-1 List-11
(Name) (Meaning of Curriculum)
(a) Saylor and (1) Curriculum is the
Alexander scheme of values.

(b) Albert Oliver (ii) Curriculum is the
function of public
school.

(c) Philip (iii) Curriculum is the plan,
H. Phenix experiences, content
and objectives.

(d) Hilda Taba (iv) Curriculum is the
educational
programme.

Select the appropriate option from the following:

@ b @© (@
(A) (i)  Gv)y @@ >D)
B © G @G 3Gv)
© Gv) Gy @G @)
(D) Gy Gv)y @@ (D)

9. Develop consciousness of freedom,

recognise authoritarian tendencies and
connect knowledge for constructive actions— this
is related to which kind of pedagogy?

(A) Innovative Pedagogy
(B) Effective Pedagogy
(C) Ceritical Pedagogy
(D) Adult Pedagogy

11

7. DistrictInstitutes of Education and Training

sifde 27 facaie @ Jeifes fefers:
(A) e e Sifs, 1968
(B) e st Sifs, 1986
(C) @I T, 1964-66
(D) o fFERiifs, 2020

8. OfFFH @ 2ve ANl A OfFR-11-93

AN~ LT e
O ORI

(a) TR 9% (i) AT 2&1 JEEIEE
RIGECIE] AT |

(b) SHERI SIfFTeF (i) Moy 2 AR e

[ERISTI

(c) /1. @35, (iii) NIy &1 oAfsma,
Tepfera wfoeee!, a9 o |

(d) fEreie|  (iv) Aoz R

0 |
R e Js e Hdoa
P

@ G © @@
(A) @) @Gv) @) (D)
B) (@ Gy @) o 3[v)
€ Gv) G G @)
D) Gy Gv) (@) i)

9, ST (TR Tl W TN, FEGLTR
FRereld ifafofe uar TR Apen [ew— @2
TR (P LS (s1eialfer (Pedagogy )3 A TG 2

(A) TgRA! (ofeiaifer
(B) FI4 (srotsife
(C) TG (ool
(D) JfaTF (ool
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10. Match the items under List-I with the term
under List-II:

List-1 List-11
(a) Pragmatism (i) Heuristic approach
(b) Realism (i1) Deductive method

(c) Naturalism (iii) Experiential
learning

(d) Idealism (iv) Inductive method
Select the appropriate option from the following:

@ ® (@© (@@
(A) G G Gv) @)
B) @ Gv) i) (D)
© Gy @ @ (v
(D) @iy  Gv) @) (i)

11.  Scholastic Aptitude Test measures
the individual’s:

(A) General ability
(B) Specific ability
(C) Global ability
(D) Multiple abilities

12. For calculation of Chi-square on
null hypothesis, the degrees of freedom are:

(A) r+c)—1

B) r-c)+1

© t-D-1
D) =D +(-1)

13. ‘Stage relevant cognitive ability’

and ‘cognitive development based on

complexity’ are the two popular learning
theories.

Identify who are the founders of the stated
theories:

(A) Piaget and Ausubel
(B) Piaget and Bruner
(C) Bruner and Bloom
(D) Piaget and Vygotsky

X-6

10. FEefFaE--a3 REael@ Jor ofFeHl
-&q ‘term’ CeTI:

olfer-1 olferp-1
(a) AW () SPTEITERE g
(b) IAEIAM (i) SRR FiFei
(c) =Ffoam (i) SfCEoRER yiFe
(d) oM (iv) =R giefs
fasfesf (A Mos Resl Foa
et

@ @ (@© (@
(A) (i) Gi)  Gv) @)
B) @ Gv) @>i) (D)
© i)y (1 @G)  (v)
D) Gi) @Gv) @) (i)

11. (qifas zRde srorw afea @b st
I, ©f 2+7:

(A) ARl ol

(B) ReeR ==l

(C) 7K el

(D) =3 el

12. FedT 5@ 87 fofe a@ iz-
CRITI S1oI Sy TR To I @ Al degrees
of freedom 2&7:
(A) (r+c)—1
(B) (r—c)+1
C©) =D (-1
D) -1 +(-1)

13. (qifas Frefefes «fw gz Fifdw =
Qe [RPH— @3 76 25 Tefey e og |

e amels I 92 Teulhw avemR
e[\ Fpel:

(A) RIS @3 SIS
(B) oIS @32 T
(C) Tim @32 g

(D) forRIcE @3 ©izsih®
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14. In a normal distribution, 100 percent of 14. TSIk 96, G619 100 Sl 92 @5 ey
cases are covered between: T <A, ©f 24 :
(A) X £3-09 ¢ (A) X +309 ¢
(B) X420 (B) X*20
©) X#lo © Xz*lo
(D) X +30 D) X 30

15. Whichofthe following is noracharacteristic 15. Fore @G o @ g 7372
ion?
of a profession? (A) ¢ AT ot

(A) Membership of a professional ~ -
(B) @<l B Al & Fler

organisation
(B) Working with service-motive (C) FTwel, 7eefon amfq
(C) Exhibiting honesty and integrity (D) Aol &old

(D) Promoting activism

16. Assertion (A) : Emotionally intelligent 16. R3©(A) : TS I oo Mo Tey
children are good in AL O |

problem solving. @FI(R) : eCETeNES  AEfe e

Reason (R) : Emotional intelligence ﬂﬁf‘ﬁm?ﬁﬁmﬁ? Wyl 7@
implies the capacity to ' &
integrate and manage the P _ : A{/%l
emotions. AN AT [KIFH0 (VD] et :
Choose the most appropriate option: (A) (A) 9 (R) Tew3 AT @R
(A) Both (A) and (R) are correct and (A)-3 A 2 (R) 51 A0S
(R) is the correct explanation (B) (A) ¥ (R) Toxz 7F «=g
of (A) (A)-3 1T 2P0 (R) TS K

(B) Botb (A) and (R) are correct a}nd ©) (A) = A fog (R) %=1 feit
(R) is not the correct explanation

of (A) (D) (A) == 2l 5% (R) =1 719y
(C) (A)is true but (R) is false
(D) (A) is false but (R) is true
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17. Read the following statements I and II:
Statement-I: In the past, politicians
perceived their role as
completely separate and
independent.

Statement-II: In reality, no educational
system can be separated from
political system.

Choose the most appropriate option from

the following:

(A) Both statements, I and II are false
(B) Both statements, I and II are true
(C) Only statement I is true

(D) Only statement II is true

18. Undertaking a study to investigate the rate
of moral judgement development of a specific
population of children over an extended period of
time is:

(A) Cross-sectional research
(B) Ex-post-facto research
(C) Cohort study

(D) Trend study

19. Which one of the following is not
correct for Dynamic Model of Learner’s
Autonomy?

(A) Accounts for cognitive,
metacognitive action oriented for
learner’s autonomy

(B) Predominently action oriented

(C) Learner’s autonomy for
competencies and skills

(D) Mechanism for teaching

17. fasfiiRe fRgfel @ 11 7ies:
RIfe (D) : wTeite Ao K@l 7= 7j2F
¢ AT ©ima i
A FCe |
fgfe () e e, @ FeE
Aetates 77 (A [z
|

fsfiiesl (@@ it arer e
o5 et
(A) Tea fZfs (1) @3 (1) W
(B) ©ex e (1) @3 (1) 719
(C) wig f1fs (1) 19y
(D) «zwig 3t (1) 71

18. AGf® W@ A@ 9 [ weRaE
Rt (o< o1 RSP 219 ST 31K AN
BEIERH
(A) Cross-sectional 213
(B) Ex-post-facto 9133l
(C) Cohort 3G
(D) Trend BIf©

19. FFERS TR TEE SifeRe Nee-a9d T
fafRe @i et Ao 772

(A) R AR I Gl T e,
T, FIO-FADS K7z

(B) TUrs FAHAST

(C) @erel ¢ wrelq Wfzcd i
TG

(D) e Fmeie
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20. Match the ‘theories’ under List-I with their 20. T Ave ©ifaE-1-93 wesiEa Aox

‘examples’ under List-II:

List-1 List-11
(Theories)

(a) Relative Deprivation (i) Adult franchise
Theory

(Examples)

(b) Resource
Mobilization Theory

(ii) One is having a
scooter and when
the other one is
having a car

(c) Political Process
Theory

(i11) Environmental
Protection
Movement

(d) New Social
Movement Theory

(iv) Civil Rights
Movement

Select the appropriate option from the
following:

@ G © @@
A) Gv) () @) (i)
B) @ G G (Gv)
© Gy G @ ((v)
D) () aGv) @) (i)

21. In which model of inclusion students are
encouraged to work together?

(A) Team Teaching Model

(B) Non-Academic Model

(C) Social Main Stream Model
(D) Resource Model

O 11-43 SHigAeIsfe (el

©IfeP-1 w11
(T%) (Tw=zel)
(a) TAFFF I (1) ANSITTFWR (Sioifaa
©g

(b) T THEATER O (i) GFECI TR FOI €
SATE(L TR I B!
NS
(c) Areafes afFaR (iii) AR T e
g
(d) T AIITE
I ©F
faERes (e Al eaf® v w<e:
@ O @© @
A) @Gv) @G (@) (iD)
B) @ Gi) G (v
©) (i) @Gy @ (v
(D) (i) Gv) (@) (iD)

(iv) TefsFofg=ieTay

21. SESfGR @ M@ FrdEl @@ e
TR Gy S ifehs 232
(A) W4T (team) TRl STCTeT
(B) TH-STRFICTHE T
(C) Ifers = SCwe
(D) =7 (T
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22. Match the items under List-I with the items
under List-1I:

List-1 List-11
(a) POSDCORB (i) F.W. Taylor
(b) Human Relation  (ii) E.D. Pontde

Theory
(c) CPM (iii) Elton Mayo
(d) Scientific (iv) L. Gulick and
Management L. Urwick

Select the appropriate option from the
following:

(@ (b (© (@
@A) @ @  aGv) (i)
B @@ Gy a1 (Gv)
© Gv) i) G @
D) G Gv) @ ()

23. Arrange the following steps of ASSURE
Model in chronology:

1. Targeted behaviour of learners
2. Identify learning style
3. Participation of learners
4. Designing the specific material
(A) 1,3,2,4
B) 2,1,3,4
©) 2,1,4,3
(D) 3,1,2,4

24. Qualitative research follows the following
approach of:

(A) Realism

(B) Determinism
(C) Positivism

(D) Anti-positivism

22. faffes uft wiferea st gy Hizrs e
O ©ifere-11
(a) POSDCORB (i) 9%. ©fge. (Go1d
(b) W 7S ©g (i) 2. fU. A

(c) CPM (iii) €=o« TGN
(d) RE@eme (iv) 99 ol 93
A G5, FAO3H

fsfeRewfs (e Al e v -
@ @ © @
(A) G @) (dv) (i)
B) @ Gy @Gi)  @[Qv)
(€ (Gv) @) @G @)
(D) @) @Gv) @ (i)

23. ASSURE S(wa1ioa #fies o @siegaish
A
1. Fredice sTefefes ebae
2. TR o *ereae
3. Frwdior skl
4. e g il
(A) 1,3,2,4
(B) 2,1,3,4
(C) 2,1,4,3
(D) 3,1,2,4

24, 4I5S SRR (g G NS @ RSB
PR 4, © T
(A) TBI<]M
(B) fefam
(©) 7
(D) 7B Rewm



25. Inasample of 125 tenth grade students, the
achievement mean score and its SE are found 27
and 0.8. What will be the fiduciary limits
of the -95 confidence interval for the
Mpop?

(A) 24.94 - 29.06

(B) 25.68 —28.32

(C) 25.14-28.16

(D) 25.43 -28.57

26. Emotional intelligence is characterised by:
(A) Proficient in problem solving
(B) Better interpersonal relationship
(C) High abstract thinking ability
(D) Good sense of humor

27. Match the items under List-I with the items
under List-1I:

List-1
(a) Strategic planning

List-11
(i) Tactical planning
(b) Short-term planning (ii) Long-term
planning
(c) Management
planning

(iii)) Bothlong-termand
short-term planning

(d) Grassroot level
planning

(iv) Institutional
planning

Select the appropriate option from the
following:

@ G © @@
A) @ @ @) (Gv)
B) @ Gy aGi) ()
© Gy @@ 3Gv) i)
D) () aGv) G @)

X-11 11

25, W @R 125 T aaifefes Frwidia
ARPET 2IH 7C (Mean) (FIF @R T e
(SE) @ 27 @R 0.8. Mpop-493 ¢F¢g -95
confidence interval-93 QeI J O B(J ?

(A) 24.94 -29.06
(B) 25.68 —28.32
(C) 25.14-28.16
(D) 25.43 -28.57

26. e @f aiewfes Ifaa @R, @l ==
(A) T AL AT
(B) TFe wsifes TS
(C) Tws s fowe el
(D) A< I

27. N3 ©fae--a3 At Ol (§E:

olferel-l ORI

(a) (FETore AfFs (1) SAREHFETS AR

(b) TR AR (i) AT AR

(c) ARBBTLE (iii) TR € FEER Tow
Al AfeesTel

(d) SO TR (iv) aifeifas oifsaam
ATl

fsfafiewf (s #Afos eaf Fion s
@ b (© (@
(A) Gy (@) (i) (@)
B ® G @G (>dv)
© Gy @ Gv) (i)
(D) Gy (Gv) Gi) @)
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28. Match the items under List-I with the items
under List-1I:

List-1 List-11

(a) Subject-centred
curriculum design

(1) Affective education

(b) Learner-centred
curriculum design

(i) Knowledge-based
curriculum

(¢) Humanistic
curriculum design

(i11) Social action

(d) Reconstructionist (iv) Need-based
curriculum design curriculum

Select the appropriate option from the
following:

(@ (b)) () (@
A Gv) () () (@)
B) aGi) @ Gv) (i)
€ Gy Gv) () (i)
M) @ Gv) () (i)

29. Rating scale as the assessment tool domain
is under:

(A) Cognitive Domain
(B) Affective Domain
(C) Psychomotor Domain
(D) Research Domain

30. Theresearchers decision to test certain null
hypotheses in any study only at the-01 significance
level is:

(A) A Delineation
(B) A Limitation
(C) An Obligation
(D) An Assumption

X-12

28. N3 ©fae--a3 AT Ol (§E:

Oiferer- w11
(a) faafefes (i) SIygfente i
AT T

(b) Pl @l (1) wffes A1
AT =1

(c) W=l
AT T

(d) #meffoe
ANTGC T

faEResi (e Al eaf® v we:
@ G © (@@
(A) (v) (i) @G)  @1)
B) (i) @G @Gv) >GD)
© Gy @Gv) (@ (i)
(D) @ aGv) @G (i)

(iii) e femmm

fay <

(iv) difzw-fefes ftoras

29. “Ifssiois A ReE @t @ @
Wi [WS 33:

(A) QTS Sl

(B) SFgiseTss @l
(C) TwzsifeRia Tiat
(D) IS Sl

30. I oicaRens i Sueeds e e
%@ -01 significance level-9 S(FAE Prale 2=

(A) @3 F<fet

(B) @3 Siaaet
(C) @b wrzS!
(D) b SR



31. The concept of ‘main stream education’
came from:

(A) Education for exceptional
children

(B) Integrated education
(C) Education for all
(D) Right to Education Act

32. Match the items under List-I with the items
under List-1I:

List-1 List-11
(a) F.W. Taylor (i) Theory X and
Theory Y
(b) Elton Mayo (ii) Participative
Management

(¢) Rensis Likert (ii1) Scientific
Management

(d) Douglas McGregor (iv) Human Relations

Theory of
Management

Select the appropriate option from the
following:

(@ b)) (© (@
@A) @ Gy () Gv)
B) Gv) () G 3G)
© @) aGv) G @
D) G @) (Gv) (i)

33. Which of the following assistive technology
is needed by a deaf person?

(A) Text-telephone
(B) Screen Magnifier
(C) Keyboard

(D) Walkers
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31. s R ARei Heste Q@i (e aeie:
(A) ol Rema ae R
(B) <foyeTs il
(C) >[IF Gy sl
(D) Tmwia ifeplg =iz

32. N3 ©fae--a3 At ©fee-ll (E:

Ol ORI
(a) 9%, ©fgS. Gt (i) 7@ X 9R Y@
(b) @B G (ii) SRR A
(c) =P foreid (i) feeterrre <ot

(d) T MFENT  (iv) IRZIONE A
AR G
ffReu e #s Reaft v -
@ @) (© (@
A @ G @) (v)
B) Gv) @i G @)
(C) @i aGv) G @
(D) @Gy @G Gv) (i)

33. 3f4 Ffes oo MEe @Et =T agfe
2T 927 T4 T2
(A) GEC-GRICER
(B) &= smiaife=rriE
(€) @
(D) €T=FE[A
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34. Theresearcherintends to separate the upper
25% of the group fromits lower 75% inintelligence.
What should be the difficulty indices of

items of that intelligence test?

(A) Between 50% and 75%
(B) Between 25% and 50%
(C) Close to 75%
(D) Close to 25%

35. Estimating reliebility of a certain test by
KR-21 requires.

(A) Testitems with similar difficulty
levels

(B) Testitems withidentical difficulty
levels

(C) A short time interval between
administration of two-equivalent
forms of a test

(D) Arelatively longinterval between
administration of the same test

36. According to Sternberg which one
of the following is the most important
goal in learning intelligent behaviour?

(A) Presenting and structuring of
thoughts and ideas
(B) Probing and eliciting ideas

(C) Confronting novel tasks and
situation of learning to deal with
them

(D) Analysing the issues involved in
a situation

34. [@ifawem W (A oN7@s @78 75 o
(F T 25 *ORITF 524F FA09 bizcad | (78 Ifad
SR males S s [ 7@

(A) 50 *ISR¥ @3 75 SIS S
(B) 25 *SIH @R 50 *ORTH N
(C) 75 *okra IRFIE
(D) 25 *roRF FEFIlE

35. (I SR feaaisrel Afamicet KR-21
st @6 Ace 23 ol 7= :

(A) @38 FIfroR 7 SR o7 Tz

(B) i<l I3l & Sis o 72

(C) fS T 4CTH STOrHIF AT Ty el
S AL

(D) @33 STEIFIT AR Wy 2 A
SSEIC]

36. oI s, e @b e Ifane
SIGACIR S @Pgsiel 7% ?

(A) oRl @3 MR 919w € Togole

(B) SIMCHa ST @ Praie ezl

(C) =i Ff> @3 MR SRR
YA TR EI SAEAD T

(D) =%l 2 #ifFfRfea W g& s
[N
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37. Ifthe values of F for the achievement mean
score difference between two large samples is 4,
what is the value of t?
(A) 16
B) 8
(C) 2
D) 14

38. Arrange the following in order that denotes
the process of curriculum change:
1. Change in evaluation process
2. Change in methods of teaching
3. Change in content
4. Change in aims and objectives
(A) 1,2,3and 4
(B) 4,3,2and 1
(©) 2,4,3and 1
(D) 3,1,4and 2

39. Which of the following component of
Morrison’s Model does not belong to the system of
the model?

(A) Exploration
(B) Assimilation
(C) Organization
(D) Prediction

40. Which one of the following statement is
most appropriate in viewing education
from the sociological perspective?

(A) Classrooms are the basic agency
of socialization of the student

(B) Social emancipation cannot be
considered as good for education

(C) Interaction between school and
society affects the growth and
development of students

(D) Social development does not
consider the significance of
biological urges

11

37. 46 IC TEE [ AW ARFETH Y R
AT CFCG F 97 I 4 27, O -3 i [ 20a 2
(A) 16
B) 8
< 2
(D) 14

& o

38. HAoew Aee afFt e
T SRR I

1. EriRe afes Asy

2. v oimfen sifqada

3. e ifiesa

4. T @R SEme AAfHe

(A) 1,2,349R4
(B) 4,3,29® 1
©) 2,4,39@1
D) 3,1,449R2

39. SRR NOE (@l SoAWD fHewa

AE PEOER T89E 77 ?
(A) wiEae
(B) Sresael
(C) TR
(D) A€y

40. G ERENE R (A WEa @
el formm yftce 7w

(A) o e i
25 (IfeTss A<l

(B) TR ey e Y A1 miEieel
ARCI) =0 AN

(C) famierm ¢ smiitem Wy Wiz
iR I ¢ Raied 2ela e
PCA

(D) e [FH Tk SFeg
WP FF IR Al
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41. Which of the following statement is not
correctabout social barriers to inclusive education?

(A) Social barriers can be overcome
through social interaction among
the children

(B) Social barriers arose due to
difficulty in friendship formation
among the children

(C) Childrenfacesocial,cognitive and
sensory difficulties

(D) Social barriers enrich higher
academic achievement

42. Assertion (A): Quality education is not an
easy concept to qualify.

Reason (R): Quality determines how
much and how well children
learn.

Codes:

(A) Both (A) and (R) are true, but (R)
is not the correct explanation
of (A)

(B) Both (A) and (R) are true, but (R)
is the correct explanation of (A)

(C) (A)is true but (R) is false
(D) (A) is false but (R) is true

41. o MR ARG TR GFE @
Tl s a7

(A) e iR g Rema
T ARG A1 71 T (@CS 2

(B) et st Iqe 10 SPIfREE
I ANE AR TvE 27

(C) e, G, 2w aie spyfaat
et Soitelel @

(D) ANTET il To I ers

R DI S (R BRI Rkl
FoNfo 72 77 |

42. @31 (A)

: woiere frs fdifere 27 e o
AT 9 F© O FE
0 O T |

P19 (R)

(IO

(A) (A) @32 (R) Texz 7o) 58 (R) Zo
(A)-37 AfafFre A T T

(B) (A) @32 (R) T2 7e) @R (R) =&
(A)-7 ~faceifrce o i

(C) (A) == 79 g (R) =& fan
(D) (A) == 2 € (R) =1 79
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43. Matchthe ‘instructional designs’ under List-
I with the ‘developmental strategies’ under the

List-II:
List-1 List-11
(Instructional Design)(Developmental
stragegy)
(a) ADDIE (i) Instructional goals
are modified
separately
(b) ASSURE (i1) Activities and

attitudes for self
discipline and
academic subjects

(c) Dick and Carey  (iii) Framework for the
Model Development of
training courses

(d) Marson’s Model (iv) Integrate media and

technology

Select the appropriate option from the
following:

@ G © @@
A) Gv) @) @) ()
B) i) Gv) (@@ (D)
© Gi) Gv) Gy @)
D) Gv) (i) () @)

44. Which of the following scales are
charecterized by ‘no zero’ and ‘true zero’
respectively?

(A) Nominal Scale and Interval Scale
(B) Ordinal Scale and Ratio Scale
(C) Ratio Scale and Nominal Scale
(D) Interval Scale and Ordinal Scale

45. Within-groups variance represents the
variance caused by:

(A) Only measurement error
(B) Sampling fluctuations
(C) Variable of interest

(D) Confounding variable

43. fTsffis s ifemz ot <= T
S SIfeTlR 1T (FHEE (et

oifere-1 oifere-11
(T eTe T0) (AT (T
(a) ADDIE (i) FOErE T 7Tl
s =
(b) ASSURE (i) PrPrRER e «3]
S X[ eI S iAo
SR
(c) Dick and Carey (iii) Ziﬁ’ﬁ?‘ﬂ?ﬂ? (FICR &
Model IO 5!
(d) Marson’s Model (iv) E® T4 € eyfe
foewa e (e T4 ey st wwe
P

(@ (b)) () (@
A)  Gv) @) @) (1)
B) @) Gv) @ (D)
© G Gv) G O
D) Gv) () G (@)

44. Nt (@ (FLF no zero” @R “true
zero® &Il ReeAIR® 232

(A) Nominal Scale €<% Interval Scale
(B) Ordinal Scale €<% Ratio Scale
(C) Ratio Scale €<% Nominal Scale
(D) Interval Scale @<R Ordinal Scale

45. (D TEEE (AN (GG (T8 (& FIACIA
7l Sogifere w1 AT of 7 :
(A) €FG A7 To1
(B) =TIt wifzrel
(C) veTcr Fozwel
(D) RIS bere
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46. Which of the following statement is
correct?

(A) Mental Hygiene is the process
and Mental Health is the product

(B) Mental Hygiene and Mental
Health are one and the same

(C) Mental Health is the product and
Mental Hygiene is the process

(D) Mental Hygiene has nothing todo
with Mental Health

47. In early twentieth century, the radical
leadership brought politics to our people, because

(A) They are radical

(B) They were popular leaders

(C) They drew upon the cultural
heritage

(D) They belonged to different parts
of the country

48. Assertion (A): Contemporary Model of
curriculum design is based
on learner-centred approach.

Reason (R): This model places the
learner at the centre of
education.

Codes:

(A) Both (A) and (R) are false

(B) (A) is false but (R) is true

(C) Both (A) and (R) are true, but (R)
is not the correct explanation
of (A)

(D) Both (A) and (R) are true but (R)
is the correct explanation of (A)
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46. e @w el Al e

(A) b FRYRE 2= afe a3k
APRE FZ 2o Ol e

(B) WP Tl a3k Ak 7
OF @3 ST

(C) AP FIZ 2o e @32 NFhRe
Tl =1 o e

(D) PRI A AP TS
(I A (73

47. e %O ARCE Gl ((F9g GesieR
T AGSE SAZIoN A, Bl
(A) SR (et e
(B) S Twiaw (Tl faree
(C) S FFfoF afogy ol FrAfReE
(D) 11 (et [Afeq 2fites Seee

48. [3fS(A) : NTTER TSR TR
T R disfas poefs
fofe 7 fds |

PIFI(R) + CEICCCE IR (O I AR
TR 2= |
(IO

(A) (A) @2 (R) Tex3 fa

(B) (A) T2t &€ (R) =51 71y

(C) (A) 93k (R) Towg 79y, 5 (A)-=
T @A (R) AfGE 7

(D) (A) % (R) T&2 7] € (A)-7

1Tl 2P0 (R) 291 AfoF
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49. Creating a Rubric involves which of the
following attributes?

(A) Selection of essential criteria that
must be present in the students
work

(B) Proctored evaluation system
(C) Online evaluation tool
(D) Criterion based evaluation

50. Which of the following relates to
Naturalist’s conception of man:

(A) Nature would have children
before they are men

(B) Man’svery essenceis his spiritual
nature

(C) Thereexistsinthenature of things
aperfect pattern of each individual

(D) It is spirit rather than animality
that is most true of man

51. Visual efficiency is influenced by:

(A) Corrective lenses as prescribed for
the student

(B) Cognitive factors such as the level of
concept development and
communication skills

(C) The amount of assistive technology
available to the student

(D) Where the student sits in the classroom

52. Which of the following is most important
for inclusive teaching learning?

(A) Educational Technologies
(B) Teaching Technologies

(C) Assistive Technologies

(D) Communication Technologies

11

49. Rubric 76 T8RS @A wdRfE ge A ?
(A) Tt Sice e SRR Siefs
f<iDe TS e 2@
(B) &3 o0 T<E
(C) SIoTEs JETRA i

(D) ETHISTeT e

50. SR IS eFfeaiom el 2@

(A) 23feq Stz i gomr Rreg
Py (I

(B) 1T 2f3fs 281 NI SR Al

(C) =fef Ifes vare =i egfos fawm
T TEYE AF

(D) AT G S TSIFo] 25 ]I (G
Moy

51. gioea IwRe @b 77 geie

o3

(A) Fredive T geifte AReifEe
(GIRIE AT

(B) WITTE SAMIG (@ @ISR
TS @R IFel I GOl

(C) TorwiEfitna ooy Solera 72T efea
AR 8o

(D) s Rrwdioa g aged
Tolq

52. S e Rl Ridea o e @ia
wfeT wwgs ?
(A) T egfe
(B) WFEperEre ayfe
(C) =FIT 2f&
(D) Q@ICIRE Y&
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53. e-learning is defined as:
1. A synonym to audio-visual learning

2. Learning that occurs through direct
contact

3. An online-learning carried through
internet

4. Learning that consists of large
number of servers

Select the appropriate option from the
following:

(A) Only 3
(B) 1and 3
(C) 3and 4
(D) 1and?2

54. Match the items under List-I with the items
under List-IT

List-1 List-11
(a) Systematic Sampling (i) When the
populationis large
and widely
dispersed

(b) Stratified Sampling  (ii)) Modified form of
random sampling

(c) Cluster Sampling (iii)) Population will
change at each
phase

(d) Multiphase Sampling (iv) Useful blend of
randomization and
categorization

Select the appropriate option from the
following:

(@ (b)) (© (@
Ay @O G G >Gv)
B) G @ Gv) (i)
© Gy Gv) @ (i)
D) Gv) @O ai) (i)

53. e-learning-(MHA T ALEIR® 23:
. -E1Ry G T e
. 2RO AL FG AL W2
. TORECGA NG Saiies fide
. T2 RAT ASIE@T T TREE e
fsfeiRe (A Soge sl =mre w:
(A) &4 3
B) 1493
(C)349xk4
(D) 149xR2

AW N =

54, fAtEe  wifagsr-1-a3 TRyefEs A
Olfee-11-937 RRaeles @ee:

©iferer-
(a) “M&f9orS Tl

Il
(i) T PR R GR
fegoei fmgfe

(ii) T2 (Random) <TI0
Afafee mot

(b) Bf® w1

(c) wwlfre Tl (iii) 2fSf o= T
Aifeafoe 3@

(v) IR G3R (R
foael

ffReu s s Reaft <o -

@ @) (© (@

A @ @) G (@v)
B) Gy (@@ @(v) (i)
(€ Gy aGv) @) (i)
(D) @Gv) (@@ (@) (i)

(d) e
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55 . The Report “Towards an Enlightened and
Human Society” is also known by the name:
(A) Kothari Commission Report
(B) Acharya Ramamurti Report
(C) Yaspal Committee Report
(D) Janardhan Committee Report

56. Assertion (A): Teachers should encourage
students to be metacognitive.
Reason (R): Metacognition is the ability
to think about one’s
thinking. It is the key skill
for learning and for success
in school and in life.

Choose the correct option:

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are true but (R)
is not the correct explanation
of (A)

(C) (A)is true but (R) is false

(D) Both (A) and (R) are false

57. The concept of sociology of education
implies:
(A) Devising ways and means of
education to reach all sections of
society

(B) Use of sociology for making
learning socially relevant

(C) Consideration on the uses of
education from sociological
perspective

(D) Discussion on the implications of
sociology for education

55. “Towards an enlightened and human

society”— fHoibf @2 Tcne sifafoe:
(A) ISR R Fests
(B) =I5I FTfS faesilG
(C) Tiret SIS faeel®
(D) G S e

. o elfe e 2R T
*rws RERdioE SR
FAE |

: Metacognition 2& e
g THcH BRl F19 Fo |
TR &y Gfb 2o 34y werel
422 (IS G @ R eifeswicaa
AFETE TS ST |

I [sfs D T

(A) (A) @R (R) T2 7] @R (A)-F
A 2T (R) 291 AT

(B) (A) @< (R) Tw73 7w 58 (A)-
1T @A (R) AfGE =7

(C) (A) 719 7 (R) == T

(D) (A) @2 (R) Tex3 fa

56. @31 (A)

P19 (R)

57. fermrE e aRet @b ol e
(I Of ZeT:

(A) IS A B TANIS & Tely
T Tollw @ T

(B) It Wifes Apirs] witws
SRl ST LIS

(C) el 7Rl (At MR
QRS ESEPRIE]

(D) FFFIF ooy ANERSEET 2eiEs
CETIHT
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58. Which of the following statement is
appropriate to describe the competency based
model of curriculum?

(A) It addresses what the learners are
expected to dorather than on what
they are expected to learn about

(B) Itprovides frequentandrecurring
opportunities to learners to
practice their disciplinary skills
through out their fields of study

(C) Itemphasizesthatlearning should
be based on the hands-on
experiences and activities

(D) It emphsizes the learners to
develop understanding about the
cultural pluralism, equality and
futurism

59. Match the following with the help
of Dynamic Model of Learners
Autonomy:

List-1 List-11
(a) Structuring (i) Managing my
knowledge learning
(b) Affective component (ii) Planning and
evaluating
(c) Action oriented (iii) Cognitive and meta
component cognitive
components

(d) Meta strategic
component

(iv) Feeling emotions

Select the appropriate option from the
following:

(@ b)) (© (@
@A) @ G () @Gv)
B) i) (Gv)  aG) ()
© Gy Gv) (@) (i)
D) G aGv) G (D)

58. wEelfSfes oAl 9T (F0q e @
fgfeflb Toye 2

(A) it genfre s «ift<cs
SIE AN FEER (R 9P
vty 4l

(B) i oisias s crca xefers
TS SRR 2ifSfre et i
>4

(C) sfewmel gk Fia fefars e
T oI0T 9o TR WPy Avie
>4

(D) HIFoFT2gaW, 7ol G SRR
ToiE R (@ereTd
THAEE Tl g 2wl Bl

59. RS FEeiitTe sifeRie oo fefers

a TS
[VCHT O[O (el :

O ORI
(a) Mo @ (i) T e g
(b) SgOfSEE (i) #AREE @ e
ToAmIe
(c) A (iii) TS IR (1
TAW TS GoAI

(d) GBI @IS (iv) SIels, (el
T
fsfeiRie (A Ao e o a:

(@ (b)) () (@
@A) @ G G Gv)
B) @) Gv) G @O
© Gy Gv) () (i)
D) Gi) Gv) @ (D)
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60. Which of the following recommends the
observation, experiment and discovery method of
teaching?
(A) Naturalism
(B) Idealism
(C) Pragmatism
(D) Existentialism

61. Which of the following dimension of
curriculum design focuses on interrelatedness of
verious aspects?

(A) Scope

(B) Sequence
(C) Articulation
(D) Continuity

62. Which type of the following is not a type of
leader according to Hersey and Blanchard’s

model?
(A) Directing leader
(B) Motivating leader
(C) Supporting leader
(D) Coaching leader

63. Which of the following computer based
instructional material can be used to learn new
concepts?

(A) Games

(B) Tutorial

(C) Stimulation
(D) Drill practice

60. TS (IR M CFea 2RI, el
@R TG Piweq R R0 ?
(A) egfoam
(B) ©RAM
(C) Aism
(D) wifEeam

61. Ayaw T @i @it [{feq rieehm
S SGTHAER T e fm a2
(A) #Affa
(B) I3
(C) AlRETeTSl
(D) RISl

62. TACT G FITEICE MTH S
(I 4R (O Sl s (el (+73.2
(A) T 2resid ot

(B) (el AETFIS (o

(C) MNLTFIA Tl

(D) 2 (ot

63. g 9N T feie (@I I~ frda
ot aw e
(A) =Tl
(B) eI
(C) Tl
(D) TGs1 SrglieTs
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64. Program Evaluation and Review Technique
is primarily a management tool for:
(A) identifying cost
(B) managing time
(C) procuring materials
(D) improving decision-making

65. Assertion (A): In Inquiry Oriented Model,
student enquires the teacher
about the lesson.

Reason (R): TheInquiry Oriented Model
starts with questioning.

Choose the appropriate option from the
following:

(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A)is true but (R) is false
(D) (A) is false but (R) is true

66. Which of the following Indian thinker drew
his philosophy from Vedanta?
(A) J. Krishna Murthy
(B) Sri Aurobindo
(C) Rabindranath Tagore
(D) Swami Vivekananda

67. The main purpose of Navodaya Vidyalaya
is to give education to:

(A) Rural talented students
(B) Urban talented students
(C) Girl students only

(D) All students

X-24

64. Program Evaluation 9t Review Technique
Afem @b g «f6 RFAT Al st
e 23

(A) 57 i &=

(B) 0 ARIBIETI ey

(C) ™01 MRARS &relj

(D) Pral® 510t1a THAE Tl

65. RIC(A) : SPTRIMCHLS e Rl
AlG RFE SEPTR FwEa
20 3 |
FIFY(R) : STPTRICHA NG 2R
AN ST 27 |

fsfeiRie (A Ao e fdioe <
(A) (A) @32 (R) T2 7y

(B) (A) 932 (R) Tex2 faleyl

(©) (A) 7%y 5@ (R) 2ot fayl

(D) (A) e € (R) 7#1 7197

66. RIS (@ Swor bl @me
(AT O 7l BBIE AT 1 2
(A) & T3S
(B) & =@fiw
(C) T T
(D) =3 Rl

67. AR et Sl 2ot e e o
e 4

(A) 2T @S FEnd
(B) *=2< (LI P
(C) wylg Iqira

(D) e P
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68. In higher education sector, the types of
benchmarking followed are:

(A) Competitive, Functional and
Generic

(B) Internal, Competitive, Functional
and Generic

(C) Internal,
Functional

(D) Internal, Functional and Generic

Competive and

69. Who introduced the method of summated
ratings in 19327
(A) Thorndike
(B) Likert
(C) Thomson
(D) Hull

70. Defence Mechanisms are used by
an individual :
(A) To promote adjustment process
(B) To solve personal problems
(C) To avoid unpleasant situations
(D) To counter the hostility of others

71. According to SDGs report 2018 by the
United Nations, global youth unemployment can
be brought down drastically by :

(A) Empowering the youth
(B) Educating the youth
(C) Skilling the youth

(D) Literating the youth

72. Courselearning outcomes are the statements
of what the learner is expected :
(A) To know, understand and learn
(B) To understand, analyse and/or do
(C) To comprehend, create and exhibit

(D) To know,
demonstrate

understand and/or

68. Tt R SRpTe NiAIa emrenafe 2@
(A) afsrifronEs, e 3 AmEs
(B) wirergdidl, Afswiferergers, eamiet 93
ANIfEe
(C) Sirerssd, aifsrifareiges a3k fEasie
(D) STy, e a2 AIieRs

69. 19327 (< summated ratings-4<
AGNS ool I ?

(A) AHOZT

(B) ferelo

(C) i

(D) ==

70. @ AR e AT (e A2
BI&H

(A) wfscae afes Afemen
(B) T 1 STl
(C) fezet sifafzfs «fm verte

(D) w39 [Rraaa faaisiae s

71. United Nation-43 2018 SDG sl sreaisi
e g7 @0 A SRS FEE FIRe T A
(A) FACIBR o=
(B) FACIDI il
(C) T vl
(D) FACIBIF A=l

72. Course learning outcomes 251 €3 <Y
RICAREIRRIE SIIRICE
(A) @I, (R @R el
(B) (A1, FResed @2e/al i
(C) Sl fef, sjfosradt @k ewsfq
(D) @I, (IR G/ FIRABETE AP
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73. Which of the following is not the Events of 73. ool osife @G NS qoa1 732
Instruction as proposed by Gagne? T ——
1. Attention
2. Expected outcome 2. exeeTS FeIreT
3. Recall 3. 7RI
4. Stimulus 4. TAAT
5. Feedback mechanism 5. dfefeai e (Feiet
6. Demonstration 6. A
7. Feedback 7. dfefen
8. Assessing performance 8. Ww
9. Retention and transfer 9. Hi9e IR T
(A)2,3,9 (A) 2,3,9
(B) 1,4,6 (B) 1,4,6
© 5 ©) 5
(D) 7,8 D) 7.8
74. B-coefficient in multiple regression analysis 74. J=Ry A oA (Multiple regression
represents: analysis) B 2% A TR A
(A) Est.imated change in predictor (A) TSI BT T ‘i‘“f‘\* S ERon
variable

(B) F™>IFere Tiat
(C) feafier vercra Wey Wdifre

(B) Degree of relationship
(C) Estimated change in predictor

variables for observing change in
dependent variable

(D) Estimated change in the
dependent variable for each unit
change in predictor variable

ARS T T TR eI M
Seifa Afaads

(D) A8y bl e Afels e
ARG (2 Trey TSN SeT(a Iy
Seifa Afaads
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75. Assertion (A): SSA’s main aim is
universalization of
elementary education.

Reason (R): SSA is a state level policy.
Select the appropriate option from the following:
(A) Both (A) and (R) are correct.
(B) Both (A) and (R) are false.
(C) (A)is correct but (R) is false.
(D) (A) is false but (R) is true.

76. REBT is an acronym for:

(A) Rational Emotive Behaviour
Therapy

(B) Rational Emotional Behaviour
Therapy

(C) Rational Emotive Behavioural
Therapy

(D) Reactive Emotive Behavioural
Therapy

77. ‘The purpose is to select sample
consisting of subjects with specific experiences.’
it is called

(A) Snowball sample

(B) Key informant sample

(C) Maximum variation sample
(D) Ceritical case sample

75. [@3©(A)

: SSA-T & T zel Al
Rl G |

#1794 (R) : SSA & ey VA IfS |
fsfeiRie (A Ao e fdioe a<e:
(A) (A) @3 (R) Tew2 Al |
(B) (A) @32 (R) Tew2 fie |
(C) (A) 1%y, (R) |
(D) (A) W2, (R) 97 |

76. Wte @07 AHFY Fot REBT:

(A) Rational Emotive Behaviour
Therapy

(B) Rational Emotional Behaviour
Therapy

(C) Rational Emotive Behavioural
Therapy

(D) Reactive Emotive Behavioural
Therapy

77. ‘The purpose is to select sample consisting
of subjects with specific experiences.’—afGF 7ol
X3

(A) CRISST T
(B) T2 atr el

(C) AT Rprfe wxa

(D) &ibeT IoIeT el

[ Please Turn Over ]
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78. Match the items under List-I with the items

under List-1I:

List-1
(Scools of
Philosohpy)

(a) Realism

(b) Idealism

(c) Pragmatism

(d) Existentialism

List-11
(Curriculum
recommended)

(i) Completely

individualised

(i1) Problems and
Life-centred projects

(i11) Traditional and
essentialitstic mental
discipline

(iv) External world, life’s
laws and principles,
phenomenonology
and science
education.

Select the appropriate option from the

following:
(a)
A) @)
(B) (iv)
©) (i)
(D) (iii)

(b)
(iv)
(ii1)
(iv)

@)

© (@
(i)  (i1)
() (@
) (i)
(v) (i)

79. Which is not a characteristic of Portfolios?
(A) Statements of participants
(B) Expected outcomes

(C) Integration

(D) Effectiveness of teachers

X-28
78. fafafas wifge-1-as s ofaer-l
R GICE
oifere-1 GEas |
(GRIEEES)! (ZREIfTS “ArorE)
(a) IBIAW (i) ™5 Ffeere
(b) SR_AM (ii) PTG GG
k[ F
(c) @ioR_Mm (i) srelaifes «3R SRf*iE
APRE ==l
(d) wfegam (iv) g 7R, SRE=
form, ife ¢ wfewet
7 gk R el
fsfeiRie (A Ao e =re e
@ @ (© (@
A @  @Gv) Gi) (i)
B) Gv) @Gi) G @)
(€ Gy aGv) @) (i)
(D) Gi) @G Gv) (i)

79. e @A eiibrrferes @y 7372
(A) SegzeoE [gfe

(B) wiFifesFs wetiea
(C) Mo
(D) e el

o~
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80. Arrange the sequence of the key components
that denotes the Political Process Theory:

1. Mobilizing structures
Framing process
Protest cycles
Political opportunities

DR W

. Contensions repertoires
(A) 5,3,1,4,2
(B) 4,1,2,3,5
) 2,1,4,3,5
(D) 1,2,3,5,4

81. Match the items under List-I with the items
under List-1I:

List-1 List-11
(a) Dysgraphia (i) Difficulty in reading
(b) Dyscalculia (i) Difficulty in motor
skills
(c) Dyspraxia (iii) Difficulty in writing
(d) Dyslexia (iv) Difficulty in maths

Select the appropriate option from the
following:

(@ (b (© (@
A) G Gv) @ (1)
B) Gv) Gy () (i)
© G Gv) G @O
D) Gv) (i) () 1)

82. According to Managerial Grid model, which
is not the basic leadership style?

(A) Produce or Perish leadership
(B) Team leadership

(C) Democratic leadership

(D) Middle of the road leadership

11

80. Political Process Theory-& w8 I @

25 ST O A e

1. sifeAisT Floc
2. ot el

3. ofeam v

4. Ao A
5. fefFe sigm

(A) 5,3,1,4,2
(B) 4,1,2,3,5
(C) 2,1,4,3,5
(D) 1,2,3,5,4

81. O ¢ Olfam-1-99 TRaefe oee:

Oiferer- GEa |
(a) Toafzen (i) A5 St
(b) TSHHETFRERN (i) AR wFoR
EEIEK

(c) TSoemfr (i) T spyfal

(@ fooperfern (iv) eifdce spifaa
fsfeiRie (A Ao e fdioe F<e:
@ G @© (@
(A) (i) @{v) (@) (i)
B) Gv) () @ i)
© @iy Gv) @G @
(D) @Gv) @) G @1

82. AT 2 (Grid ) S0we! S,
(TG (TS el 7772
(A) Seomars w2l RAgaa (9

(B) WS (7o
(C) AToIfEs (Tog
(D) AT TR (TOF

[ Please Turn Over ]




11 X-30

83. Which one of the following will be the most
appropriate description of Educational
Technology?

(A) Effective use of hardware for
optimising learning outcomes

(B) It is a network of various
techniques to ensure and optimise
learning outcomes effectively

(C) Itis efficient use of software for
optimising learning

(D) Itisatechnique used in teaching-
learning process

84. Random sampling is not appropriate for
qualitative studies, because:

i. Samples tend to be small and sampling
error is likely to be large

ii. Data are only expressed in Ordinal
Scale for effective analysis

iii. The characteristics of the whole
population is rarely possible to know

iv. Investigators are basically practioners and
lack research expertise

Select the appropriate option from the
following:

(A) 1,1, 1ii
(B) 1,1iii

(C) iii, iv
D) i,1i,1v

85. The purpose of establishing NCTE is:

(A) To improve the quality of teacher
education

(B) To empower teachers in India
(C) To Universalise teacher education

(D) To encourage research in teacher
education

83. fawfefee @ el agfe adfq= oFa
AR ?

(A) D BFrFT FEeced Tey
ST G T

(B) ATGTSIE A R T @R
©l Ao e ffen FmieE
GF F{HSTF

(C) ® FIEa & Ao SWIET
AR R

(D) Frwe-faie afeaR a7me 93 (o
R

84. @999 5[t @«f Random sampling AR
| [
i, TSI (206 20O R GR TR
o1 fogs 20e e
ii. JAfes {AeeReed &= Ordinal Scale-9
SRIKE RG]
iii. I8 SR AT Sl 47 W G
=
iv. SERIESIFIET iefiFEeid
SRR @3 © SRR (G O
wivere e o= Tl A
fsfeRewfs (e #Afis Reaf i -
(A) 1,11, 11
(B) 1, iii
(C) iii, iv
(D) 1,1i,1v

85. NCTE &f$9ia Sy zo1:
(A) Pres e wdse Sage
(B) SR Faeia wuore
(C) Torwm seraeae
(D) TFFs PP SRR SR wie
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86. The correct logical order of the learning 86. VAT AN e o SR e afgg
process according to the Social Learning theory by "% woifes @ =

Bandura : (A) STCICIST —> 4199 —> (2R — SfeTerelioe]
(B) SCAICI9T— (2R — 49 — 2=l
(B) Attention— Motivation — (C) (R — A — ALY —> TR

Retention — Reproduction (D) I — A — “eTBLAIoAq — (234l

(C) Motivation — Attention —
Retention — Reproduction

(A) Attention— Retention —
Motivation— Reproduction

(D) Attention— Retention —
Reproduction — Motivation

87. Assertion (A): Microfinance enables 87. RIE(A) : wizfs frwig sifaifrce arfes
financial self-reliance for oy wifdE wEEde! I
individuals, providing them ST feras HiE e |
with money and education. ———

FFI(R) = T WIS o (@I AR
& 4 S wul afsiiTe

Reason (R): Microfinance is usually a BeTalle FsteifEE |
continuous ongoing activity RS (I F0F s s -
without any defined end. !
. . (A) (A) @2 (R) 7= @32 (R) =&
Select the appropriate option from the 4 5
following: (A= et
(A) Both (A)and (R) are correct and (R) is (B) (A) 9 (R) T I fog (R),
the correct explanation of (A) (A)-7 0= Fpit =1
(B) Both (A) and (R) are correct but (R) is (C) (A) ¥ (R) Toxg ABs 71
not the correct explanation of (A) (D) (A)  IPROR] (R) == PR
(C) Both (A) and (R) are incorrect
(D) (A) is incorrect, while (R) is correct
88. Which of the following approach fosters 88. e @ e 5 Riaa s e ool
creativity among children? fifere FF 2
(A) Acceleration Approach (A) WWW
(B) Enrichment Approach (B) FGSACIR Fiorefs
(C) Brainstorming Approach (C) TRewaig! ?@@ﬁ;
(D) Special Education Approach (D) e st W

[ Please Turn Over ]
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89. “Short period of confusion in which
communication cannot be understood by the
observer’—belongs to the following
category of Flanders Verbal Interaction
Analysis?

(A) Initiation

(B) Giving Directions
(C) Accepts Feeling
(D) Silence

90. Which of the following is most suggested
by Idealism as the main aim of education?

(A) Gathering of knowledge

(B) Value orientation

(C) Self-realization

(D) Reconstruction of experiences

91. Which area of the following is not a

part of the convention as announced by
United Nation’s Convention on the Rights of
Persons with Disabilities?

(A) Education

(B) Health

(C) Support Services
(D) Employment

92. The full form of PDCA as Deming cycle is:

(A) Preparation Development Check
Act

(B) Plan Do Check Act
(C) Plan Develop Check Act
(D) Plan Do Control Act

93. Identify which one of the following is not
the example of Web-2 application:

(A) Google Docs
(B) Youtube

(C) Facebook

(D) Blended learning

89. “Short period of confusion in which
communication cannot be understood by the

observer’— @FEIFT AGMT FefE Regae
sAfefrce @W el SHfkte wwar WFs
I 2

(A) 2TE

(B) o v

(C) wrygfe az

(D) Traae!

90. MrF 7 eI e @t SRAImE
7l gwife 2

(A) @& S

(B) SRS
(C) Ic=ieTia

(D) wifswsid 7jsion

91. United Nation’s Convention on the Rights
of Persons with Disabilities (UNCRPD) (@ifd®

fwferie @ e wike a3
(A) Tt
(B) =%y
(C) RIS AR
(D) Gift

92. PDCA BG&re 7J(dl I3 Z67:
(A) Preparation Development Check Act
(B) Plan Do Check Act
(C) Plan Develop Check Act
(D) Plan Do Control Act

93, [HE (@G Web-2 2SI SHigde 77,
@A ST e

(A) @sfe1 & (Google Docs)

(B) 2T-TA (Youtube)

(C) @133 (Facebook)

(D) ff*r® <= (Blended learning)
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94. Whatis the distinctive feature of case study
research?

(A) Developing an in-depth
understanding of the case

(B) Arriving at generalization about
the case

(C) Presenting a detailed case study

(D) Helping solve the problem of the
case

95. InGagne’s learning hierarchy, which of the
following is the highest level of learning?

(A) Creative learning

(B) Problem solving learning
(C) Concept learning

(D) Chain learning

96. Who among the following described the
intellectual development as age related
development?

(A) Jerome. S. Bruner
(B) Jean Piaget

(C) David Ausubel
(D) Hilda Taba

97. Which of the pedagogy can best improve
student-teacher and teacher-studentrelationships?

(A) Critical pedagogy

(B) Humility as pedagogy
(C) Gratitude as pedagogy
(D) Innovative pedagogy

94. Case Study (IR 0 FCL LTS (A% ?
(A) To SIS Tofaifa S1ow
(B) WOl ™S AHIFAC! T 2631
(C) Rge <ol Torgloi
(D) SO PTG AN RIS

95, siaICR R ifetere GRS PR 1T
B AR ?
(A) JemaeT et
(B) TPT ASAICT i2e
(C) «Feliafe i<

(D) =pifers e

96. e @9 e 77 T=Fe

et (TG T I TR 2
(A) (S99, @A, PIF
(B) @i forricer
(C) (efeT SPfe
(D) festel S|l

97. (I Pedagogy - gk -
TR ] 9771 GG AR (4 ST 2

(A) o (orelalfe
(B) T (olwialfer

(C) To@SPFTe (sulsife
(D) wIf$aq coretaifer
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98. Assertion (A): Activity Model curriculum
eliminates the boundaries
and focussed largely on
areas of student’s interest.

Reason (R): The main objective of
Activity Model curriculum
is on studnet’s growth
through experiences.

Select the appropriate option from the
following:
(A) (A) is false, but (R) is true
(B) Both (A) and (R) are false
(C) Both(A)and (R)aretrue, but (R)is not
the correct explanation of (A)

(D) Both(A)and (R) are true and (R) is the
correct explanation of (A)

99. Which of the following non-verbal
component is not listed by Charles Galloway’s
Interaction Analysis?

(A) Congruent
(B) Implement
(C) Responsive
(D) Controlling

100. Which one of the following is
recognised by the Sankhya and Yoga as
the ultimate reality?

(A) Karmas

(B) Dualistic Realism

(C) Nirvana

(D) Self-subsisting absolute

;. Ffefes Aloes AN T
om A A, @ FEdioe
NeEd T ufE Fm I |

;I AT 2 Sl Z&
wfoeeR e R Eafs |

e e A fam Niva
(A) (A) 2y, 7 (R) 3oy
(B) (A) @3k (R) T&w2 W2
(C) (A) 932 (R) Toxg 7wy, 5% (A)-
Il 2B (R) A0S 77

(D) (A) €32 (R) To72 ) @32 (R) T
(A)-3 YT A ARG

98. /731 (A)

P19 (R)

99, B SIS fefemm Resae e @
AT oA Siferee 7377

(A) Fofosef
(B) JREA
(C) efsfeamie
(D) ferael

100. 539 Sy el (RS @ Ty @3”
9] R Fpe ?
(A) T
(B) taedll ARGIAM
(C) foriet

-

(D) SIS a ARSI
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